06T7-002

1. 3.
-1 pH
-2 ORP
-3 -4
TOC TN
Ocm
28
-5 Na
K,Mg
Ca
-6 Pb
-7 Cd
Pb
2.
59¢cm 49cm Ocm
20cm
35L -1
-8 28 Cd
33.00kg
10cm 5
Fe,Zn,Mg,Na
pH
EC ORP 76 H
TOC TN L ¢ Oem 8 20cm| |
0.45pm
2 X
S
-1 ( mg/L)D 6.4 ' ' ' ' '
0 5 10 15 20 25 30
Na* | 10800 |ca* 409
K* 390 [cI~ | 19400 -1 pH
Mg?* | 1290 [so,*| 2710




ORP(mv)

TOC(mg/L)

TN(mg/L)

Na(mg/L)

200
150
100

600

500

400

300

200

100

70

60

50

40

30

20

10

14000

12000

10000

8000

6000

4000

2000

ORP ~4—~  Ocm -~  10cm| |
- 20cm =& 30cm_
- 40cm
0 5 10 15 20 25 30
-2 (ORP)
TOC
Av\
e - Ocm =i 10cm
—— 20cm =+ 30cm
== 40cm
0 5 10 15 20 25 30
-3 TOC
TN
P,
/
/ —— Ocm -®  10cm
—h— 20cm =< 30cm
-4 40cm |
0 5 10 15 20 25 30
-4 TN
Na

e

- Ocm =i 10cm| |
—h— 20cm =< 30cm | |
== 40cm
0 5 10 15
-5 (Na)

cd(mg/L) Pb(mg/L)

Cd(mg/L)

e o o

1)

0.35
—

-
=

Pb
0.30

0.25

Ocm -
20cm =&
40cm

10cm
30cm

A

0.20

0.15

/.

10

6 (Pb)

15

20

25 30

0.14
Cd -

0.12

-
0.10

0.08

Ocm =i

20cm =&

40cm

10cm

30cm

0.06

15

20

(Cd)

25 30

cd(28 )

0.05

0.04

0.03

0.02

0.01

0.00

0 10 20 30 40

-8 Cd(28

TOC TN

Cd Pb

)

(cm)

10



